47.5

FERNZ / Components
No. % %5 / Part name = /Pcs| H™E / Material £ - REAIE / Color-Finish

T |7—R 1 ABS#fAE UL94HB 7599, FMTL—
Case ABS UL94HB Black , Light gray

2 |yyarFaTFos— 2 YavIa L EVY ., 410—, 5=V, #ME=T =, ML=, 779
Silicone protector Silicone Pink , Yellow , Green , Navy , Light gray , Black

3 |BRAFER(M3 x 20 RS RAVELY) 4 #% ZfRIAA—k
Screw (M3 - 20 Truss head self tapping) Steel Black trivalent chromate

itk (BUFEXREOQ) / Color Type (End of product number)

* RET—ZXDERAR. ST X ETWI-4-170F%ZSEBT LY,

* See the separate drawing of TW9-4-17 for inner enclosure dimensions.

* )AL TOTF 98— —RERFBETERIEHLTTELY,
(F—RIZHBSNTWSERIFFEALEEA)
* Plastic case and Protective silicone with screw fastening.

(Don't use the screws come with the plastic case.)

BT =h)LT—%4 / Technical Datall

i2+& / Code ‘r—2X / Case YaY7°'ATY95— / Silicone Protector | {d ;8 EE 4B / Operating temperature : ~10°C ~ +60°C
BP 75v% / Black E>?% / Pink
BY J597% / Black AIH— / Yellow
BG J59% / Black 4J'1)—2 / Green
BN 7594 / Black FAE—TIL— / Navy
BL F59% / Black S54RI L— / Light gray % /Title
BB 55% / Black I59% / Black [TAKACHI] #RL#shFERTE SV TATHIE—FTSIRAF VI —2 O]
6P FAMTL— / Light gray 9 / Pink TAKACHI ELECTRONICS ENCLOSURE CO., LTD. PLASTIC ENCLOSURE with SILICONE PROTECTOR
Y 74sz_ / Light gray {ID_ / Yellow 7 ER/Approved %X /Checked #U[X]/Created F4Z /Product number RE/Scale
GG Z4J L— / Light gray J')—> / Green 1:15
GN AR5 L— / Light gray FAE—TIL— / Navy ] TWS9-4-1701001
aL S5 L— / Light gray SARTL— / Light gray B % H L
GB S4kJ'L— / Light gray J5v% / Black {FPLE/Date 2017/08/02




:

—
—
p—

=

=

176

415

25

3.1

====== e
| T -
| B
|
l
| | |
w—l
—]
T [ (
= A
67
/a N
) [ ~
B-B(1:2)
f W
] [lfp 31
§

=

130

=

—
—
[ m—

Il,—_l

A-A(1:2)
3.15 3.15
(7 N

—

I

| |

BRRUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

& /Title
2)aAVIATIE—TSRAFVIr—2
PLASTIC ENCLOSURE with SILICONE PROTECTOR

o]

A& 8/ Approved

1% [X|/Checked

¥t

#IX/Created

1 H

R /Product number RE/Scale
TWS9-4-1700 1:2
fER H/Date  2017/08/02 2 /2




355

HERAZ / Components
No. AR / Part name $E / Pcs| #H™ME / Material - REALIE / Color-Finish
1 | LkAnN— 1 ABS#ifg UL94HB SAMNTL—,TSvY
Top cover ABS UL94HB Light gray , Black
2 | FhAn— 1 ABSHiiE UL94HB SAMNTL—,T3vY
Bottom cover ABS UL94HB Light gray , Black
3 BAAER (M3 x 16 A MAVES) 4 £ =ffivaA—k, SR/ A—F
Screw (M3 - 16 Raised countersunk head self tapping) Steel Trivalent chromate , Black trivalent chromate

BT =h)LT—74 / Technical Datall
{E ;B EEHE / Operating temperature : —10°C ~ +60°C

3
1
2
md/Title
TAKACHI| #HXRttahFERTH G52 FyH—2R O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. PLASTIC ENCLOSURE
B4tk (BUFEKREDQ) / Color Type (End of product number) 7KER/Approved | #REL/Checked RE/Created | B#&/Product number R/ Seale
. 1:1.5
&5 / Code £ / Color ] TW9-4-1701
G S4 M L—/ Light gray 4t 1#H "4
B 75v% / Black e B /Date 2017/08/02




85.5

355

2.1

170
<— C
4 \
® ®
|
\w_ J)
<— C
.
D-D(1:2)
[lr
_ E | /] 27
(Wl Im L)

9.5

26

C-C(1:2)

e

=

U

BRRUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4 /Title
TSRFVIr—A
PLASTIC ENCLOSURE

o]

752/ Approved 1% [X|/Checked #IX]/Created B F /Product number RE/Scale
TW9-4-1700 1:2
LSS 1#H 0 ) 4
e B /Date 2017/08/02




tH/N— / Top cover

855

D

25

F-F(1:2)

3.2
53

B

7.3

@5.5

6-M3F ERER{THR R 150
6—-M3 Boss 65 5 60
E-E(1:2)
o
s 3
©
=
HEREERFAK * BRFELTOLEEA
Recommended PCB dimension * NOT SUPPLIED
162
142 6-@3.2

Jr & &

-

Lo ™~ o
r~ o ©
L . X
\Lv (v}
65 5 60 4-R3
4 /Title
TAKACHI| #ASitshFEHRI% FSRFyH—2R O]

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

PLASTIC ENCLOSURE

R/ Approved

1% [X|/Checked #IX]/Created

¥t 1 H

B F /Product number

TW9-4-170L1

RE/Scale
1:2

{EBL B /Date 2017/08/02

3/ 4




TH/\— / Bottom Cover

170
- a
77 i N
|
|
2 |
® |
|
- T T T ¥F __________ -
RN u vl
H I G H
&
H-H(1:2)
2 )
?5.5 5.5

6-M3 A E R ELFR R

6—M3 Boss

G-G(1:2)

65.5
60

75
57

65

60

HEREERBAK * RFELTOLEEA
Recommended PCB dimension * NOT SUPPLIED

161

141

—_ U

J

U

%

65

60

|

6-3.2

60

4-R4

BRRUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

fn4a/Title

TSRFVIr—A
PLASTIC ENCLOSURE

o]

A& 8/ Approved

1% [X|/Checked

¥t

#IX/Created

1 H

R /Product number RE/Scale
TW9-4-17001 1:2
fEFE/Date  2017/08/02 4/ 4




